normalized X?

[ normalized x? probability |

Entries

Prob(x2)

1 IR 0.09 * [ Mean
107 Em": : td
107%F
L Entries
= Mean
107 stdbev  1155] Q.05 --i---F
107F
10°F
o1 o
3 3
o 1l--:- @
!
o. ? ey L . . . . i
0 2 4 8 10 12 14 16 18 20 506070809 1
XZ
m=m== DQM_original_step2_tthar-phasel-newgeom
mmemm DQM_pixelCPETemplate_step2_ttbar-phasel-newgeom
wmm—= DQM_pixelCPETemplateCutChiSquareNew5_step2_ttbar-phasel-newgeom
A 5
N F
5 L
c
~
=<
\

Ratio

< X2/ ndf >

Ratio

< X2/ ndf >

Ratio

i

1 -1
AR(track, jetg)



	Contents
	Page 1


